(T

@& =2 AKA, 200195 89 4,0002 72 s2ldH 7|

Line E(OECD 7ol=g}glo] w2 CIRR
dZ) 2 efrlote] gk A DA F7bl
T2 7|08 Aom B AL

AF FFEEE Line E 5 7oAl
£o] 89 32007 FEE A Flde]
9%% AAsta o
1% Aol 1x5 glok, FEd A Yn|F
S BY AHE - 71A - Asak Fobt 66%

TGS

O

=

—
2 b e REe AAsged, A
A A A B ROk 17%, DAY
T 8%, 74 - AHl 2~ 6%, 7IE 3% T

S = v B Ll B s P o
33%% 7H¢ EeH, 1 ggeEs W
o} (31%), Eo171(12%), Lelolrlo}
(4%), LA (4%)2] 22 YElyith
AKAE 1952 KIWRERE FE414¢
T2 Qgste] 3270 Wizkedel EApE
AYER e, FFAAEQ Line A,
mjz}agel Line C-D-E $o8 F&

stol A3 Agsta ek

(I AKAS| Az ¥ tiEsel &5
Eel - o 22
T 2 19974 1908 19994 20004 20014
dsele 18 10 26 6 8.4
Cf Eres 106 84 93 72 64




